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SN =AE)
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SMEHE 141,000 139,000 2,000
Alot==2tel 75,094 60,370 14,724
Xigta=2tel (XIot=2te| SE3IA) 75,094 60,370 14,724
Xlot=2te| 73,939 59,215 14,724
201 fer= 3| 40,939 29,215 1,724
01 At 2|l 35,340 23,136 12,204
Oget=EH| 2,400
XNot=0lERE= DXA QI
503 *2,40021 120
UM EHE 225 1Y
180,000 *6H 1,080
Alote MHe=ESJ 2
2,000 *300H 600
- Kot E2= A 200,000 «3H 600
Oxtgraxta 1,320,000& «12& 16,840
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15,840,000 15,840
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ANot=2e|? 23 Se+g
70,000 x0E *22] 1,260
2 s5=34l 5,599 6,079 A480
OoRER3 1,119
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=M 2,530 30021 759
Oxtgr FAIHI 100,000& «12& 1,200
OLEE =28l 500,000 500
OEE =AE=8I 2,000,000 2,000
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5,000 * 1304 2+ 122 780
401 AlEHIZL S0 33,000 30,000 3,000
01 Al&H| 33,000 30,000 3,000
OXlots 2X2=5Y NSSHSAIAE 23
16,500,000 +20H 2~ 33,000
XIgt==2tel(oigldl) 1,155 1,185
801 ofieI| 1,155 1,155
01 Letolblsl 1,185 1,185
oodisl 1,155,000& 1,155
WRES(=sMEH) 65,906 78,630 N12,724
WHEHHXIE(XISt+22I SESIH) 65,906 78,630 A12,724
SEMHIEHESI= HE= 65,906 78,630 AN12,724
704 &= 65,906 78,630 AN12,724
01 0&= 65,906 78,630 AN12,724
OSgNgtdeIs &=
65,906,000 65,906




